Lab 24 Key
3.1. In the printTable() method, does the variable i correspond to the first index or the second index in the 2-dimensional array table?

	1rst index  


3.3.  What output was generated?

	 «Ï ----jGRASP exec: java Driver
Ï§Ï
Ï§Ï      DJIA 10,487.11    +16.52    +0.16%
Ï§Ï    NASDAQ  2,060.94     +3.52    +0.18%
Ï§Ï   S&P 500  1,142.76     +0.95    +0.08%
Ï§Ï
Ï©Ï ----jGRASP: operation complete.



3.4.  Why do all of the columns in the table line up when they are printed?

	because TableWriter object was used and it used the Field Format object  to print each value with a field width of 10


3.5.  Is the following declaration valid (even though there are a different

      number of elements in the rows)?

	yes  (because an array is an array of arrays in Java)


3.8.  What error is generated and why?

	Ï«Ï ----jGRASP exec: java Driver
Ï§Ï
Ï§Ï      DJIA 10,487.11    +16.52    +0.16%
Ï§Ï    NASDAQ  2,060.94     +3.52    +0.18%
Ï§Ï   S&P 500  1,142.76     +0.95    +0.08%
Ï§ÏException in thread "main" java.lang.ArrayIndexOutOfBoundsException: 3
Ï§Ï
at TableWriter.printTable(TableWriter.java:44)
Ï§Ï
at Driver.main(Driver.java:28)
Ï§Ï
Ï§Ï ----jGRASP wedge2: exit code for process is 1.
Ï©Ï ----jGRASP: operation complete.


	because the last row has only 3 columns not 4


4.1   What did you do to fix the problem in printTable ?
	changed the 0 (which was the length for row 0 to i which is the length for row i

for (j=0; j < table[0].length; j++)
for (j=0; j < table[i].length; j++)



4.2 Show the output produced by your altered code

	ÏÏ«Ï ----jGRASP exec: java Driver
ÏÏ§Ï
ÏÏ§Ï      DJIA 10,487.11    +16.52    +0.16%
ÏÏ§Ï    NASDAQ  2,060.94     +3.52    +0.18%
ÏÏ§Ï   S&P 500  1,142.76     +0.95    +0.08%
ÏÏ§Ï 10-Yr TR.     4.20%     +0.06
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.



4.3 Insert the code for your writeTable method here

	/**
 64      * Print a table with row and column prefixes
 65      *
 66      * @param table   The table to print
 67      */
 68        public void writeTable(String[][] table)
 69       {
 70         FieldFormat        formatter;
 71          int                i, j;
 72       
 73          formatter = new FieldFormat();
 74          formatter.setFieldWidth(fieldWidth);
 75       
 76          for (i=0; i < table.length; i++)
 77          {
 78             for (j=0; j < table[i].length; j++) // fix for 4.2
 79             {
 80                if (table[i][j] == null)
 81                {
 82                   out.print(formatter.fitStringToField(" "));
 83                }// end if
 84                else
 85                {
 86                   out.print ("   " + i + "," + j + ":" + table[i][j]+ "\t");  // fix for 4.3
 87                }// end else
 88             }// end inner for
 89             out.println();
 90          } // end outer for
 91       }// end writeTable method
OR

	    /**
     * Print a table with row and column prefixes
     *
     * @param table   The table to print
     */
       public void writeTable(String[][] table)
      {
         int                i, j;
      
         for (i=0; i < table.length; i++)
         {
            for (j=0; j < table[i].length; j++) // fix for 4.2
            {
               if (table[i][j] != null)
                 out.print ("   " + i + "," + j + ":" + table[i][j]+ "\t");  // fix for 4.3
            }// end inner for
            out.println();
         } // end outer for
      }// end writeTable method



4.5   Show the output produced by running your altered driver with your writeTable  method
	 Ï«Ï ----jGRASP exec: java Driver
ÏÏ§Ï
ÏÏ§Ï       0,0:DJIA  0,1:10,487.11     0,2:+16.52     0,3:+0.16%
ÏÏ§Ï     1,0:NASDAQ   1,1:2,060.94      1,2:+3.52     1,3:+0.18%
ÏÏ§Ï    2,0:S&P 500   2,1:1,142.76      2,2:+0.95     2,3:+0.08%
ÏÏ§Ï  3,0:10-Yr TR.      3,1:4.20%      3,2:+0.06
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.

OR

Ï «Ï ----jGRASP exec: java Driver
ÏÏ§Ï
ÏÏ§Ï  0,0:DJIA
  0,1:10,487.11
  0,2:+16.52
  0,3:+0.16%

ÏÏ§Ï  1,0:NASDAQ
  1,1:2,060.94
  1,2:+3.52
  1,3:+0.18%

ÏÏ§Ï  2,0:S&P 500
  2,1:1,142.76
  2,2:+0.95
  2,3:+0.08%

ÏÏ§Ï  3,0:10-Yr TR.
  3,1:4.20%
  3,2:+0.06

ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.

OR


       0,0:DJIA
   0,1:10,487.11
   0,2:+16.52
   0,3:+0.16%

ÏÏ§Ï   1,0:NASDAQ
         1,1:2,060.94
   1,2:+3.52
   1,3:+0.18%

ÏÏ§Ï   2,0:S&P 500
   2,1:1,142.76
   2,2:+0.95
   2,3:+0.08%

ÏÏ§Ï   3,0:10-Yr TR.
   3,1:4.20%
   3,2:+0.06

ÏÏ§Ï



4.6 Insert the code for your printTableWithHeaders method here

	/**
 94      * Print a table with row and column headings
 95      *
 96      * @param table   The table to print
 97      */
 98        public void printTableWithHeaders(String[][] table)
 99       {
100          FieldFormat        formatter;
101          int                i, j;
102       
103          formatter = new FieldFormat();
104          formatter.setFieldWidth(fieldWidth);
105       
106          for (j = 0; j < table[0].length; j++)  // fix 1 for 4.6
107             out.print( "           " + j);
108          out.println (); 
109       
110          for (i=0; i < table.length; i++)
111          { 
112             out.print (i + "\t");               // fix 3 for 4.6
113             for (j=0; j < table[i].length; j++) // fix for 4.2
114             {
115                if (table[i][j] == null)
116                {
117                   out.print(formatter.fitStringToField(" "));
118                } // end if
119                else
120                {
121                   out.print(formatter.fitStringToField(table[i][j]));
122                } // end else
123             } // end inner for
124             out.println();
125          }  // end outer for
126       }// end class PrintTableWithHeaders



4.8 Show the output produced by running your altered driver with your printTableWithHeaders method 
	 Ï«Ï ----jGRASP exec: java Driver
ÏÏ§Ï            0           1           2           3
ÏÏ§Ï0
        DJIA   10,487.11      +16.52      +0.16%
ÏÏ§Ï1
      NASDAQ    2,060.94       +3.52      +0.18%
ÏÏ§Ï2
     S&P 500    1,142.76       +0.95      +0.08%
ÏÏ§Ï3
   10-Yr TR.       4.20%       +0.06
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.



